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O HAHES(REmEERINDERD THDRGE) D C
HESR /N FTRAREHIZCDOINT

RERER REREH 0.2% aq (FREEMHE
HIEERLLT)
KEAM L (FH 1%aq [ xEAIT
semi—open: as is L 5+ #l =5 BR
B AxH 0.2% aq (FREIETE
HIEgEFRLLT)
BiRESEE v T— 1%aq open test: 5%aq *
A 1%aq
AT RE 1%aq
T A4Y—T 1%aq 1-10%aq*
INKRY—T 1%aq
SEEas 1%aq
DL (A9%EL)  1%aq
Q |_|J""'"_"é“7}ﬁ 1%aq open test: 2%aq*
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e Anton C. de Groot Patch Testlng 4th Ed, acdegroot publlshlng, Wapserveen, 2018 pp532 533
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< ZXEARG/GA (g - RSB E) OKBRARERR
REEUFIEEX | TOEH 7K R A S IRA K| BREREE
(%) (ml) (ml) B (%) (ml) (ml) (%)
20 0.1 + 9.9 0.20 o 1 + 0.00 0.20
21 0.1 + 9.9 0.21 ot 1 + 0.05 0.20
22 0.1 + 9.9 0.22 = 1 = 0.10 0.20
23 0.1 + 9.9 0.23 o 1 + 0.15 0.20
24 0.1 + 9.9 0.24 = 1 + 0.20 0.20
25 0.1 + 9.9 0.25 S 1 + {325 0.20
26 0.1 + 9.9 0.26 = 1 + 0.30 0.20
27 0.1 + 9.9 0.27 = 1 + 85 0.20
28 0.1 + 9.9 0.28 5 1 + 0.40 0.20
29 0.1 + 9.9 0.29 = 1 + 0.45 0.20
30 0.1 + 9.9 0.30 = 1 + 0.50 0.20
31 0.1 + 9.9 0.31 T 1 + 0355 0.20
32 0.1 + 9.9 0.32 o 1 + 0.60 0.20
33 0.1 + 9.9 0.33 = 1 + 0.65 0.20
34 0.1 + 9.9 0.34 = 1 4= 0.70 0.20
35 0.1 + 9.9 0.35 0 1 + 0.75 0.20
36 0.1 + 9.9 0.36 e 1 + 0.80 0.20
37 0.1 + 9.9 0.37 e 1 + 0.85 0.20
38 0.1 + 9.9 0.38 o 1 + 0.90 0.20
39 0.1 + 9.9 0.39 T 1 + 0.95 0.20
?) 40 0.1 T 9.9 040 |- 1 T 1.00 0.20
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S ZERESHEE CUER -

BEsARE) DKBRARERR

REEUEREBX | TTO KA 7K R A FHRRA K| REREREE
(%) (ml) (ml) B (%) (ml) (ml) (%)
41 0.1 + 9.9 0.41 1 + 1.05 0.20
42 0.1 + 9.9 0.42 = 1 + 1.10 0.20
43 0.1 + 9.9 0.43 = 1 + 1215 0.20
44 0.1 + 9.9 0.44 = 1 + 1.20 0.20
45 0.1 + 9.9 0.45 = 1 + 1.25 0.20
46 0.1 + 9.9 0.46 i 1 + 1.30 0.20
47 0.1 + 9.9 0.47 e 1 + S5 0.20
48 0.1 + 9.9 0.48 e 1 + 1.40 0.20
49 0.1 + 9.9 0.49 o 1 + 1.45 0.20
50 0.1 + 9.9 0.50 " 1 + 1.50 0.20
51 0.1 + 9.9 0.51 NS 1 + 15515 0.20
52 0.1 + 9.9 0.52 SR 1 + 1.60 0.20
53 0.1 + 9.9 0.53 = 1 + 1.65 0.20
54 0.1 + 9.9 0.54 S 1 + 1.70 0.20
55 0.1 + 9.9 0.55 = 1 + 1.75 0.20
56 0.1 + 9.9 0.56 = 1 + 1.80 0.20
57 0.1 + 9.9 0.57 2 1 + 1.85 0.20
58 0.1 + 9.9 0.58 =3 1 - 1.90 0.20
59 0.1 + 9.9 0.59 S 1 + 1.95 0.20
60 0.1 + 9.9 0.60 =3 1 + 2.00 0.20
(e XKITDRFNEKTHERT HEICIE.
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